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Chapter 6 Questions

1) Graph the solution set for each linear inequality.
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2) Graph the solution set for the linear inequality.
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3) For the inequality —Q\{ < 3x+\ , determine whether each point is in

its solution region
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4) Tyson loves candy. His two favourite types of candy are Caramilk Chocolate
and Gobstoppers. Caramilk Chocolate is $2 each and Gobstoppers are $1 each.
Tyson budgets himself no more than $10 a week for candy. Tyson wants to
know all of the possible combinations of Caramilk Chocolate and Gobstoppers

he can buy in a week.

a) Define the variables| b) Write a linear

c) What are the

(1 mark) inequality to represent restrictions on the
the situation. (2 marks) variables? (1 mark)
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e) Use the graph to determine a

combination of candy that Tyson
can afford and still have money
left over. (1 mark)
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f) Use the graph to determine a
combination of candy that Tyson
can afford with no money left
over. (1 mark)

5) What can you infer about the restrictions on the variables for the system of

linear inequalities below?
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6) What can you infer about the restrictions on the variables for the system of
linear inequalities below?

a)xel,yel
@xe R,yeR
c) xEW,ye W
d) x€y,y&x

shaded regions

7) Stephanie is buying hamburger buns and hot dog buns. She buys less than 30
hamburger buns and more than 10 hot dog buns. If m represents the number
of hamburger buns and d represents the number of hot dog buns, which
inequalities represent these relationships?

@ m<30,d>10 ¢ m&30,d 10
b) m > 30,d< 10 d) m?7 30,d< 10

8) Jared is a disc jockey and plays at least twice as many rap songs as country
songs. If r represents the number of rap songs and c represents the number of
country songs, which inequality represents this relationship?

a) cL2r c)r{ 2
b) ¢ ) 2r @ r 2c

9) Consider tfie system of linear inequalities.
(x| 3x-6y< ¥ xE€T %1}
%txfjm ST L A

Circle each point that is a solution to the system.
THERE MAY BE MORE THAN ONE ANSWER!
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10) Graph the solution set for the following system of inequalities.
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11) Travis loves video games. His two favorite games are "World of Warcraft" and
"Halo".

e Travis is allowed to play video games a maximum of 20 times per week.

e He plays "Halo" at least twice as many times as he plays "World of Warcraft".

a) Define the variables |b) What are the c) Write a system of inequalities
(1 mark) restrictions on the that models this situation
h = halo variables? (1 mark)| (2 marks)
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d) Graph the system (4 \marks)
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) Use the'graph to determine a combination of video games that Tyson can play
in one waek. (1 mark)
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12) Which of the following is a possible solution to the inequality 2y -9 > 3x?
a) (1,3 ¢ (2-2)

b) (0, 0) 3, 10)
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13) Identify the point of intersection for the following system of linear inequalities.
x+y<5
3y-x 3
) (6-1)  (©)E2)
b) (_31 2) d) (61 '1)

Answer questions #14 and #15 from the following system and objective function.
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14) Where is the maximum solution to the objective function?
a) (0,0) (d))(8,4)
b) (8,0) e)(8,38)
c) (4,4)
15) Where is the minimum solution to the objective function?
a) (0,0) d) (8,4)
b) (8,0) e) (8,38)
@4, 4)
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Answer questions #16-19 from the following information:

A student council is ordering signs for the winter dance. Signs can be made in
letter or poster size.

No more than 30 of each size are wanted.

More poster size signs are wanted than letter-size signs. P> L

Up to three times as many poster-size signs are wanted than letter-size signs.
No more than 50 signs are needed altogether 4 LS’SO P \<3\_
Letter-size signs cost S5 each and poster-size signs cost $12.

Let L represent the number of letter-size signs.

Let P represent the number of poster-size signs.

16) Which of the following is a constraint of the system?
a) L+PL30  ¢)P) 30

b))L £30 d) L+P2 30

17) Which of the following is a constraint of the system?
a) P> L c)PYL
b) P<L d) PLL

18) Which of the following is a constraint of the system?

a) P23L c) L3P
(b))P &3L d) LK 3P

19) How would you write the objective function for cost?

a) 5L+12P {50 c)C=L+P
b)L+P<\50 d\C=5L+12P
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20) Joseph tutors Math and English and has made a plan for how much tutoring he

can do in the next month.

e He wants to spend at least twice as much time tutoring Math than tutoring
English.

e He can tutor, at most, for 45 hours altogether.

e He wants to tutor Math for at least 10 hours.
Joseph earns $20 per hour for tutoring Math and $25 per hour for tutoring
English.

a) Define the b) Write the objective function|c) Write a system of
variables for how much revenue inequalities that models
Joseph can earn. the constraints
'\T\kovt‘f\g Mo ma <€, S
= ’*OQ hours mie {4
HWhoring Envitn M2 10

d) Graph the system of inequalities
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e) What is the maximum revenue that | f) What is the minimum revenue that
Joseph can earn? Joseph can earn?
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